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THTEREHBRPRHAR (BEXHER) BKR

1 m#F 14, 494 N\ (Hi4F-13, 746 N)
@2 x W #F 2, 714N (Hi{42, 610.N)
@)= B * 11, 780N (Hif4FE11, 136.0)
(9 BIEFRIFEIBA)
(F) =& L, HEEo> b, ERICZBRLZETHY, 1REEL
ZBRLIEEDZ EThD,
“4) = B X 81.3% (HI481. 0%)
(E) =R, HEEICLHOLIZREOEETH D,
(B) £ A x & HF 11,682\ (Hif4-11, 055N)
(E) AR E LI, MAOXMRLEL2E, T7bb, 2REEZBRLEEFED
ZLThD,
AR R R G R
i W & 270N (2. 3%)
il & W 286 N (2. 4%)
); U O 7,289 N (62. 4%)
4 B 628 N\ (5. 4%)
. B R 2,308 A (19. 8%)
JAN = ] 292 N (2. 5%)
I ] 609N (5.2%)

i 11,682 A
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